



Depart with dignity.

euthabag.com

Thousands of veterinary institutions in 24 countries and 9 universities now FEEL BETTER using Euthabag



DESIGNED FOR INCINERATION AND BURIAL, NOT IMMEDIATELY BIODEGRADABLE



US and Canada patented Designed by a veterinarian

A body bag honoring the bond between the vet team, the pet and the family

Treating patients like your own

BENEFITS

PROFESSIONAL

Choosing the highest standard available contributes positively to your **image**, the **professionalism** of your team and respects the families bond with their pets.

FINANCIAL

Euthabag fees, like other medical supplies can be passed on to the client fairly. By adding **just \$10** to the euthanasia fee, you can offer the best to your client, patient and veterinary team at **no additional cost** to your practice.

PSYCHOLOGICAL

Your team of professionals will simply **feel better** using Euthabag.

ECOLOGICAL

Chlorine and PVC free. Water-based ink and vegetable-based glue. Contains recycled material. Used and endorsed by crematoriums, it can also be buried.

LIABILITY

As stated in the new **AVMA** Companion Animal Aftercare Policy, "Deceased pets, whenever possible, should be maintained in a condition suitable for return to the owner or to the aftercare providers [...] ."* The use of **plastic bags** for the disposal of deceased pets has been the ground for many **professional complaints**. Euthabag provides adequate containment and preserves the animal's dignity.

"I am very thankful to finally have a respectful option to offer clients when their animals have died. Euthabag has made some difficult conversations much easier."

Dr. L.R., DVM DES., Dipl. ACVIM

"I have always been proud of all the great care we provide for pets and their families. The garbage bag just was not an appropriate end to that relationship. Euthabag fills a void; we could not envision going back." Dr. LPdL, DVM, Dipl. ACVIM Oncology

| "All my patients deserve this respect and my employees too."

Dr. M-C.L., DVM

With Euthabag we are now able to demonstrate respect and professionalism in EVERY aspect of practice.

* Companion Animal Aftercare Policy by the AVMA is subject to the CC BY-NC-ND licence. EUTHABAG products are in no way affiliated with, sponsored or endorsed by the AVMA.



XS (< 3 lbs)	UNIT PRICE \$4.40	BOX OF 5 \$22.00	CODE J1482
5 (3-20 lbs)	UNIT PRICE \$5.30	BOX OF 20 \$106.00	CODE J1482A
M (20-40 lbs)	UNIT PRICE \$9.75	BOX OF 8 \$78.00	CODE J1482B
L (40-85 lbs)	UNIT PRICE \$12.50	BOX OF 8 \$100.00	CODE J1482C
XL (85-190 lbs)	UNIT PRICE \$16.80	BOX OF 5 \$84.00	CODE J1482D

With an average cost of \$8, Euthabag can easily be incorporated into the cost of Euthanasia

	COST OF EUTHANASIA WITH CREMATION	EUTHANASIA WITH EUTHABAG	PRICE INCREASE
< 15 LB	\$150	\$155	+3.5%
	\$200	\$205	+2.7%
	\$300	\$305	+1.8%
	\$400	\$405	+1.3%

More than 80% of pet owners would elect to spend \$10 or more for a body bag.*

* The importance of how a pet's body is handled after death, Survey of 100 pet owners, 2019.



ORDER A BOX OF EACH SIZE (A TOTAL OF 41 BAGS) FOR \$368 AND RECEIVE 20 SYMPATHY CARDS AS A BONUS (A VALUE OF \$36)